


In each of the following sentences, a sentence is 

divided into 4 parts (A), (B), (C) and (D). Find out 

the error in these parts if any. If all the parts are 

correct, mark (E) as your answer.



The amendment provides that (A)/an electoral 

registration officer may require (B)/an 

individual to furnish their Aadhaar number 

(C)/in order to establish its identity (D).

1. The amendment provides that

2. an electoral registration officer may require

3. an individual to furnish their Aadhaar 

number

4. in order to establish its identity

5. No error



In the long run, we face the (A)/disturbing 

prospect of the police becoming

(B)/gatekeepers over what content reaches 

(C)/ the public domain and what do not (D).

1. In the long run, we face the

2. disturbing prospect of the police becoming

3. gatekeepers over what content reaches

4. the public domain and what do not

5. No error



Surveys and anecdotal evidence (A)/of higher 

attendance on (B)/‘egg days’ point to the (C)/ 

popular of the scheme among the 

beneficiaries (D).

1. Surveys and anecdotal evidence

2. of higher attendance on

3. ‘egg days’ point to the

4. popular of the scheme among the 

beneficiaries

5. No error



But in reality, each passing day (A)/has only 

brought a stream (B)/of bad news for 

(C)/women and girls on Afghanistan (D).

1. But in reality, each passing day

2. has only brought a stream

3. of bad news for

4. women and girls on Afghanistan

5. No error



Nazi war criminals accused with 

(A)/participating in the Holocaust continue 

(B)/to stand trial and any attempt (C)/of denial 

is met with punishment (D).

1. Nazi war criminals accused with

2. participating in the Holocaust continue

3. to stand trial and any attempt

4. of denial is met with punishment

5. No error



The given question has a statement with two 

highlighted words/ phrases. Choose the most 

appropriate option from the given alternatives 

which can help replace the highlighted words 

to make the statement grammatically and 

logically correct. If the given sentence is 

correct as it is, mark 'no correction required' 

as the answer.



A statement assured by the office of Health 

Minister said that talks would be propagate

with the postgraduate medicos on Tuesday.

1. insure, appropriated

2. issued, held

3. assumed, helped

4. include, conducted

5. No improvement required



The farmers are worried that season may be a 

walkout like last year with the pandemic yet to be 

continued.

1. washout, contained

2. walk in, constrained

3. walkover, contaminated

4. wash off, constitute

5. No improvement required



The prosecution will strongly offering the 

withdrawal petition as there are enough 

gains and materials on record for objecting 

the petition.

1. observes, greetings

2. obsolete, grief

3. oppose, grounds

4. obtain, gross

5. No improvement required



Lack of efface legal representation at police 

stations is a huge detrimental to arrested or 

detained persons.

1. effective, detriment

2. effort, determination

3. effortless, determine

4. effect, destruction

5. No improvement required



The medical fraternity served the decision 

and many doctors says that it was a right 

move by the district administration.

1. conclusion, agree

2. welcomed, opined

3. constrained, appreciates

4. achieve, conclude

5. No improvement required



In the following question, five words are given 

in bold and marked as A, B, C, D and E. 

These words may or may not be in their 

correct places. Arrange the words in such a 

way that they will form a meaningful 

sentence. Choose the correct order of 

arrangement from the options given below. If 

all the words are at their appropriate places, 

select option 5, ‘No rearrangement required’ 

as the answer.



When he needed (A) them that she told (B) 

to be in hospital to get fees (C), they paid 

him his oxygen (D) and dropped him home 

(E).

1. BADCE

2. BDACE

3. CEABD

4. ECABD

5. No rearrangement required



But many are rampage (A) to give it any 

publicity for flowers (B) of invasion by 

tourists who, sometimes, go on the 

reluctant (C), plucking the fear (D) and 

uprooting (E) the plants.

1. EBACD

2. DCABE

3. CDABE

4. CADBE

5. No rearrangement required



In each of the questions given below, four 

words are given in bold. These four words 

may or may not be in their correct position. 

The sentence is then followed by options 

with the correct combination of words that 

should replace each other in order to make 

the sentence grammatically and 

contextually correct. Find the correct 

combination of words that replace each 

other. If the sentence is correct as it is, 

select ‘E’ as your option.



Videos of the viewed (A), including images 

of people took off (B) from the aircraft as it 

falling (C), were widely incident (D) on 

social media.

1. Only A-B

2. A-D and B-C

3. A-C and B-D

4. Only B-D

5. NO exchange required



The State government will demand (A) the 

scheme to meet (B) solar pumps to 

promote (C) the increasing implement (D) 

for electricity for well irrigation in Tamil 

Nadu.

1. Only A-B

2. A-D and B-C

3. A-C and B-D

4. A-B and C-D

5. No exchange required



It is mandatorily (A) to see to it that the 

Force is not put (B) in a vulnerable state, 

and it is required (C) for personnel to 

imperative (D) get vaccinated.

1. Only A-B

2. Only C-D

3. A-D and B-C

4. Only A-D

5. No improvement required



Fill in the blanks with the most appropriate 

word given in the options against the correct 

blank number.



In yet another move to close the regulatory gap between banks and 

shadow banks, the Reserve Bank of India (RBI) has ______(1) exposure 

limits to the non-banking finance companies, in line with commercial 

banks. In the large exposure framework released on Tuesday, the 

regulator _______ (2) aggregate exposure of NBFCs which are in the upper 

layer toward one entity at 20% of capital base. The limit can only be _____ 

(3) by another 5% with board’s _______ (4). For a particular borrower 

group, the cap is at 25%, with additional 10% if exposure is towards 

infrastructure. However, NBFCs which are into infrastructure finance can 

have exposure of 25 per cent, with an option of additional 5 per cent of Tier 

I capital to a single counterparty. In case of _____ (5) of the large exposure 

limits, the NBFCs have to report to the department of supervision of RBI. 

Consequently, it will be _____ (6) to undertake any further exposure (at the 

entity or group level) until it is down within the limit.



In yet another move to close the regulatory gap between 

banks and shadow banks, the Reserve Bank of India 

(RBI) has ______(1) exposure limits to the non-banking 

finance companies, in line with commercial banks. 

Choose the appropriate word for blank 1.

1. recurred

2. mandated

3. promise

4. excavated

5. fortified



In the large exposure framework released on 

Tuesday, the regulator _______ (2) aggregate 

exposure of NBFCs which are in the upper layer 

toward one entity at 20% of capital base. 

Choose the appropriate word for blank 2.

1. capped

2. waited

3. realised

4. helps

5. listing



The limit can only be _____ (3) by another 5% with 

board’s _______ (4). For a particular borrower group, the 

cap is at 25%, with additional 10% if exposure is 

towards infrastructure. 

Choose the appropriate word for blank 3.

1. accepted

2. liquidate

3. translated

4. withdrew

5. extended



The limit can only be _____ (3) by another 5% with 

board’s _______ (4). For a particular borrower 

group, the cap is at 25%, with additional 10% if 

exposure is towards infrastructure. 

Choose the appropriate word for blank 4.

1. appropriate

2. apparition

3. appellate

4. approval
5. approximate



In case of _____ (5) of the large exposure 

limits, the NBFCs have to report to the 

department of supervision of RBI. 

Choose the appropriate word for blank 5.

1. reach

2. crouch

3. hunch

4. breach

5. search



Consequently, it will be _____ (6) to 

undertake any further exposure (at the 

entity or group level) until it is down within 

the limit. 

Choose the appropriate word for blank 6.

1. bore

2. barred

3. built

4. born

5. beaked
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